f

1 I 2 3 4 I 5 6 7 8
I_ 0.43 1['335] 1[123021 1[';(;
7]
T[T © o )
[ N .
Ao, | EIAERTISRRE °
o 1 TR "
2ol L T L Bl et (_ e
__\\_’ — : ﬁ Detail A
EL S RS,
1.18 11.42 118
[30] | [290] [30]
n
e
é (c
i) EJ{F =
) =
4=

e||—“|
]

13.78 0.1 14.96
[350] [2.5] [380]
VOLTAGE | CURRENT | WEIGHT HEAT
PART# | DESCRIPTION | * y/ac) (A) LBS (Kg) | LOSS (W)
UFI000365 EUJ71096X 380/480 300 160.6 (73.0) 365
TOLERANCES / REFERENCES: ™ |DRAWN: DATE TITLE:
7 YAS KAWA J. MATTAS 7-30-14| D1000 PWM FILTER MODULE
CHECKED: pate | DIMENSION DRAWING
J. PIOTROWSKI [7-30-14 | UF1000365
THIS DOCUMENT AND INFORMATION CONTAINED |"°H: o |-
IN IT ARE CONFIDENTIAL, AND CANNOT BE A‘i;R?g)BJA 7'32;514 S REVION FAGE
COPIED OR DISCLOSED IN WHOLE OR INPART| | GAIRO 9-23-14 A R0OO 1 of 2
UNITS: SCALE: WITHOUT THE EXPRESS WRITTEN CONSENT [ORIGINAL DESIGN: DATE | e
INflmm]| 1:6 |oF vaskawa AMERICA, INC. - - |DD.UFI1000365




I— 1 2 | 3 | 4 | 5 | 6 | 7 8
TERMINAL DETAILS

(FRONT COVER AND TOP COVER REMOVED) ELECTRICAL DIAGRAM
2.81 3.66 3.66
[71.5] [93] 193]
Voltage Detection Terminals 2 t ‘;’,*_“E P Filtzr Madule InputACRescter | )
—\ — Mmce ’ = % U X L
with M4 Screw ) Three- —%.— l\RLE—. / frv\..—JJ l—ﬂ“’-%@- RIL1
\@ Q Phase stz — v] oY sl Logis
] = Powar — " = v —{0) S
- 5 i T A O
o=0] P O ]
= TIT
) J [
= ; A |
o @ ° @ oo b l@[® |
N N ‘
M Y
= T 2 5 T == TE |
[ = [ = [ =
poo pooO ‘
= = = = = =
= —1 = —1 = | |
— :FIQr:l = B o B COr1i11
Y " j
Q g o o (-] o o (-] @ 114
0 of lo of lo O3
= BT @ I & :
Y ma— Ly e
[
Grounding Terminals
0.08 11.26
[2] [286] with M12 Screw
205  3.66 3.66 - [56?142]
521 | 93] (13 ’
2.63
Main Terminals R/L1 S/L2 T/IL3 [66.7]
with M12 Screw(input) 2.07 r.o.t
} 152.7]
hﬂ\ i -
I

Main Terminals input

Grounding Terminals

a £
oW _ +.40 _£
EN 2 1-48-.0100 Sge
- g _'.E — + + 00 _g
egs RTE [¢77%°] Sot
- H O+ ~ &3

3 el = ~ =0

= o AT ) . g

= ~ =5 Main Terminals output &
) \ o o
= < 2
I +
e5E : 2
w6 =E b — —
e o= o= | @ [le=smr :
e SE=sGhcsniy i I
= - \ \ L
= 1 e 1 < T T —
W | b |l | |
2.11+.20 . 4.33+.20 e 4.33+.20 -
[53.5+5] [110£5] [110£5] Main Terminals
with M12 Screw(output)
TOLERANCES / REFERENCES: ™ |DRAWN: DATE TITLE:
7 YAS KAWA J. MATTAS 7-30-14| D1000 PWM FILTER MODULE
CHECKED: pate | DIMENSION DRAWING
J. PIOTROWSKI | 7-30-14 | UF1000365
THIS DOCUMENT AND INFORMATION CONTAINED | 5% oATE -
IN IT ARE CONFIDENTIAL, AND CANNOT BE A‘i;R?g)RJA 7-32;514 SIZE REVISION PAGE
COPIED OR DISCLOSED IN WHOLE OR IN PART| J  CAIRO 9-23-14 A R0O 2 of 2
UNITS: SCALE: WITHOUT THE EXPRESS WRITTEN CONSENT [ORIGINAL DESIGN: DATE | e #
INlmm] | 1:6 |oF vaskawAa AMERICA, INC. - - |DD.UFI1000365




